PP PP PO PP PO PR PO PP PO PP PO PP PP PP PP PP TP PP PP PO P TP PO P

MO GIIGIOIOIIIIIOIOIIIIIOOIICIIIOOIIIIIOIIIIGIONK

O
s

(% 1 #)

H 4Af 5 4 11 A 14 H
= S 6 £ 3 H 31 H

— R E AN 7 a2 — TR

i o] VR R AR BE T R — T H 8935

KOOI IO IO IR K

PR PR BIPP OGP B PP O PP P B PP O GIPIP B P D B PP O PP B PP O PP PP D B PP PSP TIPS



— RN = 7 20— TR TR BN ]

(1 —1)
:H:—"‘ P\E‘
4fn 6 £ 3 A 31 A BfE
(HA7 : [)
= B £E Al O BE Pk
I &HEDOH
1. RENEE
B Ta4 272, 030 0 272,030
& [ $RAT 272,030 0 272,030
[ElE 78 192, 500 0 192, 500
TENE PEA 464, 530 0 464, 530
2. [EEEE
(1) HApE
EHITEA 3, 000, 000 0 3, 000, 000
AU EA G 3, 000, 000 0 3, 000, 000
(2) FEgrE
FrEBEAT 0 0 0
(3) ZFOfhEEEFE
[ EEPES R 3, 000, 000 0 3, 000, 000
GrEaEt 3,464, 530 0 3. 464, 530
I AfEFDOE
1. MEAE
mEAE A 0 0 0
2. FEEAE
HEAFEEF 0 0 0
AEAF 0 0 0
I IEBRRAPE DR
1. e EWME
T4 230, 000 0 230, 000
B & LR PEA§T 230, 000 0 230, 000
2. —RIEM PE
(1) Z D —fz EMBA 3, 234, 530 0 3, 234, 530
— % EM A P 3, 234, 530 0 3, 234, 530
EBRRAPE A F 3, 464, 530 0 3, 464, 530
BE L OERMPES B 3,464, 530 0 3, 464, 530
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1. RRE R OE
(1) RBEUILE
= WA T4 4, 000, 000 0 4, 000, 000
TR e GERURE) 3, 000, 000 0 3, 000, 000
SR 4 (FEES) 1, 000, 000 0 1, 000, 000
HMEI A 1 0 1
S B 1 0 1
e 4,000, 001 0 4,000, 001
(2) RwEH
HEE 100, 100 0 100, 100
TR 100, 100 0 100, 100
EHE 665, 371 0 665, 371
BEE 13, 320 0 13, 320
THFEAL & 15, 180 0 15, 180
TSR 170, 000 0 170, 000
AL 61, 860 0 61, 860
TitE 102, 789 0 402, 789
R 972 0 972
ML 1,250 0 1, 250
“Xsa%§FHD+ 765, 471 0 765, 471
R o A TG R 3,234, 530 0 3, 234, 530
#ﬁﬁﬁ%% 0 0 0
AR Y kA 3, 234, 530 0 3, 234, 530
2. RESMEORS
(1) IR
e et 0 0 0
(2) st
o2 R 0 0 0
R A AR 0 0 0
fth & SRR AT 24— % 15 R U P 1 e 3, 234, 530 0 3, 234, 530
X4 e TR W B P M TR 3,234,530 0 3, 234, 530
— % 1E MR B pE HE el AR 3,234, 530 0 3, 234, 530
— B E MR BA P A R 0 0 0
— X IEBE R PEHI R & 3, 234, 530 0 3, 234, 530
0 57 LR BEHE I O 5B
S F AT 230, 000 0 230, 000
ERe Sy 230, 000 0 230, 000
— M IE Bk B PE ~ D IR IR EE 0 0 0
5 T IE Ik A pE AR 230, 000 0 230, 000
FEEIE BRI PER 5% =) 0 0 0
T & IE BRI L B R 7 = 230, 000 0 230, 000
M IEBREA AR =
NI e 3. 464, 530 3,464, 530




